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HERRE SRR AN ST R D B e AN R TR B 75

% [ Bg - KR Bif # B B i ® % wmE
E#ER A 25, 874, 690
ERERMEFERRITRE RS 25, 874, 690
ERERMEFERRITRE RS 25, 874, 690
BREES 24,924,900
FEES 386, 800
1 B 1.00 386, 800 386, 800
=
WihRE 4,093, 600
2 BiRE (HEHEHRRED 1.00 1,108, 000 1,108, 000
=
3 BiRE (EELHBRED) 1.00 2,985, 600 2,985, 600
=
FEIRE DR 5,814, 600
4 FIREDERN (HEHEHRRED 1.00 3,402, 600 3,402, 600
=
5 RIRE DR (EELHBRED) 1.00 2,412,000 2,412,000
=
BEERER 10, 506, 600
6 BEEMIER (HHERBRED) 1.00 5, 633, 000 5,633, 000
=
1 BEEMER (EEEHBRE) 1.00 4,873, 600 4,873, 600
=
BE 2,812, 800
8 B& (EEHEDER) 1.00 1, 406, 400 1, 406, 400
=X




HERRE SRR AN ST R D B e AN R TR B 75

9 BE (BEEMER) 1.00 1, 406, 400 1, 406, 400
=X

& - |E 1,310, 500

10 HaTHE 1.00 109, 800 109, 800
]

11 PREHRE 1.00 1,024, 000 1,024, 000
=

12 R#E|E 1.00 176, 700 176, 700
]

E#EEE 949, 790

EHARE 208,016

13 EHAME 1.00 208,016 208,016
=

i 451,714

14 f*#& 1.00 451,774 451,774
=

EBRERE 290, 000

15 EBHREGRE 1.00 290, 000 290, 000
=




WBiER THAEEAM A BBERHERERMEFRRBRITRET RS

4 g B - KT Bifg B 2 B ® = W=
BRI 24,924,900 + 949,790 25, 874, 690
EEAGE 24,924,900
EEEE 949, 790
T DA IR { 24,924,900 x 53.85% ( 35% =+ (1 — 35%) ) 13,422, 058
EHRI 25,874,690 + 13,422,058 39, 296, 748
—BREBRES 39,296,748 x 53.85% ( 35% = (1 — 35% ) ) — 8 046 21,153, 252
KBS 39,296, 748 + 21,153, 252 60, 450, 000
HEREELE 60, 450,000 x 10.00% 6, 045, 000
e EHTL 60, 450,000 + 6, 045, 000 66, 495, 000
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THAFEEAM A ERDERER MM ERERITRE XS

=1
B - FHEER 1RHY
% 7 R - AR R B3 H 2 B £ & B &
HEnR
A 1.00 66, 900. 00 66, 900
EX: T TC D)
A 1.50 58, 600. 00 87,900
A (A)
A 2.50 51, 200. 00 128, 000
A (B)
A 2.50 41, 600. 00 104, 000
& i YEZREN - 1.00K 386, 800. 00 386, 800
5:2
2 WHEAE  (BEERRED) 1RHY
% 7 R - AR R B3 H 2 B £ & B &
A (A)
A 6.00 51, 200. 00 307, 200
A (B)
A 9.00 41, 600. 00 374, 400
HEm (C)
A 13.00 32, 800. 00 426, 400
& i YEZRED - 1.00 1, 108, 000. 00 1,108, 000
5:3
&F  BHEAE  (EELHFEED 1RHY
% 7 R - AR R B3 H 2 B £ & B &
A (A)
A 14.00 51, 200. 00 716, 800
A (B)
A 23.00 41, 600. 00 956, 800
HEm (C)
A 40. 00 32, 800. 00 1,312,000
& i YEZRED - 1.00 2,985, 600. 00 2, 985, 600




K& -ET/\vr—2

THAFEEAM A ERDERER MM ERERITRE XS

EE .4
& BEREOER (LUK 1RHY
% 7 R - AR R B3 H 2 B & # & B &
A (A)
A 19.50 51, 200. 00 998, 400
A (B)
A 23.50 41, 600. 00 977, 600
HEm (C)
A 32.00 32, 800. 00 1, 049, 600
Hftt &
A 13.00 29, 000. 00 377, 000
& i YEZREN - 1.00K 3, 402, 600. 00 3, 402, 600
EE =)
B FAREOMER (EELHEEKE) 1RHY
% 7 R - AR R B3 H 2 B & # & B &
A (A)
A 12.00 51, 200. 00 614, 400
A (B)
A 17.50 41, 600. 00 728, 000
HEm (C)
A 22.00 32, 800. 00 721, 600
Hftt &
A 12.00 29, 000. 00 348, 000
& i YEZRED - 1.00 2, 412, 000. 00 2,412, 000
ES:6
& BEERMER (HEREED 1RHY
% 7 R - AR R B3 H 2 B £ & B &
A (A)
A 26. 00 51, 200. 00 1,331, 200
A (B)
A 36. 00 41, 600. 00 1,497, 600
HEm (C)
A 74. 00 32, 800. 00 2,427, 200
Hftt &
A 13.00 29, 000. 00 377, 000
& i YEZREN - 1.00K 5, 633, 000. 00 5, 633, 000
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THAFEEAM A ERDERER MM ERERITRE XS

&5 .17
2% BEEMMER  (EEERERD) 14y
£ 7 R - KT B B = BO(f & | # B &
AR (A)
A 26. 00 51, 200. 00 1,331, 200
AR (B)
A 35.00 41, 600. 00 1, 456, 000
HAf (C)
A 53.00 32, 800. 00 1, 738, 400
Hti&
A 12.00 29, 000. 00 348, 000
= g 1YEZHEH - 1.00K 4,873, 600. 00 4,873, 600
%5 :8
& BE (REREDOMER) 14y
£ 7 R - KT B B = BO(f & | # B &
F1EBER GEED
A 24.00 58, 600. 00 1, 406, 400
= it 1YEZHEH - 1.00K 1, 406, 400. 00 1, 406, 400
&5 :9
& BE (FBEERMERD 14y
£ 7 R - KT B B = BO(f & | # B &
F1EBER GEED
A 24.00 58, 600. 00 1, 406, 400
= it 1YE%HEH - 1.00K 1, 406, 400. 00 1, 406, 400
H5:10
2 . BATHE HEED)
£ 7 R - KT B B = BO(f & | # B &
F1EBER GEED
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.00 51, 200. 00 51,200
= it 1YEZHER - 1.00[E 109, 800. 00 109, 800




=

K& -ET/\vr—2

: 11

THAFEEAM A ERDERER MM ERERITRE XS

=
L PRERE 1RHY
% 7 R - AR R B3 = B £ & B &
A (A)
A 10. 00 51, 200. 00 512, 000
A (B)
A 6.00 41, 600. 00 249, 600
HEm (C)
A 8.00 32, 800. 00 262, 400
& i YEZREN - 1.00K 1, 024, 000. 00 1,024, 000
H5 :12
& - RIRBRE H=ED)
%4 7 R - AR R B3 = B £ # B &
HEnR
A 1.00 66, 900. 00 66, 900
EX: T TC D)
A 1.00 58, 600. 00 58, 600
A (A)
A 1.00 51, 200. 00 51, 200
& it YE%8eH - 1.00E 176, 700. 00 176, 700
H5 13
& EHEARE 1RHY
% 7 R - AR R B3 = B £ & B &
EHRARE
= 1.00 208, 016. 00 208,016
& it YEZRED - 1.00 208, 016. 00 208,016
214
2% RkE 1RHY
% 7 R - AR R B3 = B £ & B &
i3
= 1.00 451, 774. 00 451, 774
& i YEZREN - 1.00K 451, 774. 00 451,774




K& -ET/\vr—2

THAFEEAM A ERDERER MM ERERITRE XS

H5 : 15
2 EBHRRE X5y
2 Lo R - KT B = BO(f ol | W E B &
(BRRRE
= 1.00 290, 000. 00 290, 000
& it 1EZBER - 1.00 290, 000. 00 290, 000




